3/11/21
Add 3 Digits and 2 Digits
Crossing 10 
My Confidence: 
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When you add 5 tens to
a 3-digit number, only the
tens column changes.

(@)©)

Write three examples to show Amir is wrong.

Complete the number sentences.

u)452+70=C| d)84+70=‘:] g)171+50+20=|:]
b)692+60=[ | e)30+784=:| h)256+50+3o=|:]
c)357+70=|:| f)l:]=712+9o
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Complete the number sentences.

349 +

339 +

=429

=429

359 +

=429

+ 399 = 429
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A barrel contains 175 litres of water.

2 buckets of water are poured into the barrel.

There is now 265 litres of water in the barrel.
How much water could have been in each bucket?

How many different answers can you find?
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Complete the bar models.

30 844

417 774

The bar models give an example of adding a multiple of ten to a 3-digit number where it crosses the ten.
What could the numbers be?

417 679
!
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Use base 10 to help you work out the additions.

a) 261 + 10 b) 261 + 20 c) 261 + 30 d) 261 + 40
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1) What is ten more than 90?

2) Complete the number bonds to 100

80 +

70 +

3) Continue the sequences

=100

=100

40 +

100 =90 +

=100

40,50,60, _ ,_ ., ., ,_

44,54,64, __ ,  ,__,__,
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Complete the additions.
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Work out the addition.

Use the place value chart
to help you.

369 + 70
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Esin and Zach are calculating 457 + 90.

457, 467,477,487, 497,
507,517,527, 537, 547

457 +100 = 557

557 -10 = 547

Whose method do you prefer?
Explain why.





